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ADDITION WORD PROBLEMS

1)  A packet of 7 pens contains some red pens and 4 blue pens?

2)  Among 10 T V’s the shopkeeper sold some T V’s  and the remaining T V’s are 8? 

a)  Draw a picture to help you solve the problem.

a)  Draw a picture to help you solve the problem.

b)  Draw a complete number bond that goes with this story.

b)  Draw a complete number bond that goes with this story.

c)  Write an addition sentence to match the story.

c)  Write an addition sentence to match the story.

Questions based on thinking and understanding.

__  +  __  =  10

__  +  __  =  7

10     

7

Blue pens (    )

T V (    )

Total pens (7)

Total T V (10)

Red pens (    )

T V (   )

7  -  __  =  __

10  -  __  =  __


